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Chapter 1

LEARNING OBJECTIVES:

By the end of this chapter, students should understand:

 that economics is about the allocation of scarce resources.

 that individuals face trade-offs.

 the meaning of opportunity cost.

 how to use marginal reasoning when making decisions.

 how incentives affect people’s behaviour.

 why trade among people or nations can be good for everyone.

 why markets are a good, but not perfect, way to allocate resources.

 what determines some trends in the overall economy.

KEY POINTS:

1. The fundamental lessons about individual decision making are that people face trade-offs among

alternative goals, that the cost of any action is measured in terms of forgone opportunities, that

rational people make decisions by comparing marginal costs and marginal benefits, and that people

change their behaviour in response to the incentives they face.

2. The fundamental lessons about interactions among people are that trade can be mutually beneficial,

that markets are usually a good way of coordinating trades among people, and that the government

can potentially improve market outcomes if there is some sort of market failure or if the market

outcome is inequitable.

3. The field of economics is divided into two subfields: microeconomics and macroeconomics.

Microeconomists study decision making by households and firms and the interaction among

households and firms in the marketplace. Macroeconomists study the forces and trends that affect

the economy as a whole.

4. The fundamental lessons about the economy as a whole are that productivity is the ultimate source

of living standards, that money growth is the ultimate source of inflation, and that society faces a

short-run trade-off between inflation and unemployment.

Chapter 2

LEARNING OBJECTIVES:

By the end of this chapter, students should understand:

 how economists apply the methods of science.

 how assumptions and models can shed light on the world.

 research can be conducted through using inductive and deductive reasoning – no one way is the ‘right way’.

 a simple model—the circular flow.

 the difference between positive and normative statements.

 the role of economists in making policy.

 why economists sometimes disagree with one another.
KEY POINTS:

1. Economists try to address their subject with a scientist’s objectivity. Like all

scientists, they make appropriate assumptions and build simplified models in

order to understand the world around them. One simple economic model is the

circular-flow diagram.

2. Economists use empirical methods to develop and test hypotheses.

3. Research can be conducted through using inductive and deductive reasoning –

no one way is the ‘right way’.

4. Economists develop theories which can be used to explain phenomena and

make predictions. In developing theories and models, economists have to make

assumptions.

5. Using theory and observation is part of scientific method but economists always

have to remember that they are studying human beings and humans do not

behave in consistent or rational ways.

6. A positive statement is an assertion about how the world is. A normative

statement is an assertion about how the world ought to be. When economists

make normative statements, they are acting more as policy advisors than

scientists.

7. Economists who advise policy makers offer conflicting advice either because of

differences in scientific judgements or because of differences in values. At other

times, economists are united in the advice they offer, but policy makers may

choose to ignore it.

Chapter 3

LEARNING OBJECTIVES:

By the end of this chapter, students should understand:

 what a competitive market is.

 what determines the demand for a good in a competitive market.

 what determines the supply of a good in a competitive market.

 how supply and demand together set the price of a good and the quantity sold.

 the key role of prices in allocating scarce resources in market economies.

KEY POINTS:

1. Economists use the model of supply and demand to analyze competitive markets. In a competitive

market, there are many buyers and sellers, each of whom has little or no influence on the market

price.

2. The demand curve shows how the quantity of a good demanded depends on the price. According to

the law of demand, as the price of a good falls, the quantity demanded rises. Therefore, the demand

curve slopes downward.

3. In addition to price, other determinants of how much consumers want to buy include income, the

prices of substitutes and complements, tastes, expectations, and the number of buyers. If one of

these factors changes, the demand curve shifts.

4. The supply curve shows how the quantity of a good supplied depends on the price. According to the

law of supply, as the price of a good rises, the quantity supplied rises. Therefore, the supply curve

slopes upward.

5. In addition to price, other determinants of how much producers want to sell include the price and

profitability of goods in production and joint supply, input prices, technology, expectations the

number of sellers and natural and social factors. If one of these factors changes, the supply curve

shifts.

6. The intersection of the supply and demand curves determines the market equilibrium. At the

equilibrium price, the quantity demanded equals the quantity supplied.

7. The behavior of buyers and sellers naturally drives markets toward their equilibrium. When the

market price is above the equilibrium price, there is a surplus of the good, which causes the market

price to fall. When the market price is below the equilibrium price, there is a shortage, which causes

the market price to rise.

8. To analyse how any event influences a market, we use the supply and demand diagram to examine

how the event affects the equilibrium price and quantity. To do this we follow three steps. First, we

decide whether the event shifts the supply curve or the demand curve (or both). Secondly, we decide

which direction the curve shifts. Thirdly, we compare the new equilibrium with the initial equilibrium.

9. In market economies, prices are the signals that guide economic decisions and thereby allocate

scarce resources. For every good in the economy, the price ensures that supply and demand are in

balance. The equilibrium price then determines how much of the good buyers choose to purchase

and how much sellers choose to produce.

Chapter 4

LEARNING OBJECTIVES:

By the end of this chapter, students should understand:

 the meaning of the elasticity of demand.

 what determines the elasticity of demand.

 the meaning of the elasticity of supply.

 what determines the elasticity of supply.

 the concept of elasticity in three very different markets (the market for wheat, the market for oil, and

the market for illegal drugs).

KEY POINTS:

1. The price elasticity of demand measures how much the quantity demanded responds to changes in

the price. Demand tends to be more elastic if close substitutes are available, if the good is a luxury

rather than a necessity, if the market is narrowly defined or if buyers have substantial time to

react to a price change.

2. The price elasticity of demand is calculated as the percentage change in quantity demanded

divided by the percentage change in price. If the elasticity is less than 1, so that quantity

demanded moves proportionately less than the price, demand is said to be inelastic. If the

elasticity is greater than 1, so that quantity demanded moves proportionately more than the price,

demand is said to be elastic.

3. The price elasticity of supply measures how much the quantity supplied responds to changes in the

price. This elasticity often depends on the time horizon under consideration. In most markets,

supply is more elastic in the long run than in the short run.

4. The price elasticity of supply is calculated as the percentage change in quantity supplied divided by

the percentage change in price. If the elasticity is less than 1, so that quantity supplied moves

proportionately less than the price, supply is said to be inelastic. If the elasticity is greater than 1,

so that quantity supplied moves proportionately more than the price, supply is said to be elastic.

5. Total revenue, the total amount received by sellers for a good, equals the price of the good times

the quantity sold. For inelastic demand curves, total revenue rises as price rises. For elastic

demand curves, total revenue falls as price rises.

6. The income elasticity of demand measures how much the quantity demanded responds to changes

in consumers’ income. The cross-price elasticity of demand measures how much the quantity

demanded of one good responds to changes in the price of another good.

Chapter 5

LEARNING OBJECTIVES:

By the end of this chapter, students should understand:

 what utility is about.

 how a budget constraint represents the choices a consumer can afford.

 how indifference curves can be used to represent a consumer’s preferences.

 how a consumer’s optimal choices are determined.

 how a consumer responds to changes in income and changes in prices.

 how to decompose the impact of a price change into an income effect and a

substitution effect.

 how to apply the theory of consumer choice to three questions about household

behaviour.
KEY POINTS:

1. The analysis of consumer choice looks at how consumers make decisions.

There are a number of assumptions which underpin the model which

include that people behave rationally to maximize their utility from their

given resources.

2. A consumer’s budget constraint shows the possible combinations of

different goods he can buy given his income and the prices of the goods.

The slope of the budget constraint equals the relative price of the goods.

3. The consumer’s indifference curves represent his preferences. An

indifference curve shows the various bundles of goods that make the

consumer equally happy. Points on higher indifference curves are preferred

to points on lower indifference curves. The slope of an indifference curve at

any point is the consumer’s marginal rate of substitution – the rate at

which the consumer is willing to trade one good for the other.

4. The consumer optimizes by choosing the point on his budget constraint

that lies on the highest indifference curve. At this point, the slope of the

indifference curve (the marginal rate of substitution between the goods)

equals the slope of the budget constraint (the relative price of the goods).

5. When the price of a good falls, the impact on the consumer’s choices can

be broken down into an income effect and a substitution effect. The

income effect is the change in consumption that arises because a lower

price makes the consumer better off. The substitution effect is the change

in consumption that arises because a price change encourages greater

consumption of the good that has become relatively cheaper. The income

effect is reflected in the movement from a lower to a higher indifference
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curve, whereas the substitution effect is reflected by a movement along an

indifference curve to a point with a different slope.

6. The theory of consumer choice can be applied in many situations. It can

explain why demand curves can potentially slope upward.

7. People are not always rational, they use rules of thumb (heuristics) and

are influenced by the way in which information is presented (framing

effects) which may alter the outcomes suggested by expected utility

theory.
Chapter 6

LEARNING OBJECTIVES:

By the end of this chapter, students should understand:

 what items are included in a firm’s costs of production.

 the link between a firm’s production process and its total costs.

 the meaning of average total cost and marginal cost and how they are related.

 the shape of a typical firm’s cost curves.

 the relationship between short-run and long-run costs.

 what characteristics make a market competitive.

 how competitive firms decide how much output to produce.

 how competitive firms decide when to shut down production temporarily.

 how competitive firms decide whether to exit or enter a market.

 how firm behaviour determines a market’s short-run and long-run supply curves

KEY POINTS:

1. When analyzing a firm’s behaviour, it is important to include all the opportunity costs of production.

Some, such as the wages a firm pays its workers, are explicit. Others, such as the wages the firm

owner gives up by working in the firm rather than taking another job, are implicit.

2. A firm’s costs reflect its production process. A typical firm’s production function gets flatter as the

quantity of an input increases, displaying the property of diminishing marginal product. As a result, a

firm’s total cost curve gets steeper as the quantity produced rises.

3. A firm’s total costs can be divided between fixed costs and variable costs. Fixed costs are costs that

are not determined by the quantity of output produced. Variable costs are costs that directly related

to the amount produced and so change when the firm alters the quantity of output produced.

4. Average total cost is total cost divided by the quantity of output. Marginal cost is the amount by

which total cost changes if output increases (or decreases) by 1 unit.

5. For a typical firm, marginal cost rises with the quantity of output. Average total cost first falls as

output increases and then rises as output increases further. The marginal cost curve always crosses

the average total cost curve at the minimum of average total cost.

6. Many costs are fixed in the short run but variable in the long run. As a result, when the firm changes

its level of production, average total cost may rise more in the short run than in the long run.

7. Because a competitive firm is a price taker, its revenue is proportional to the amount of output it

produces. The price of the good equals both the firm’s average revenue and its marginal revenue.

8. One goal of firms is to maximize profit, which equals total revenue minus total cost.

9. To maximize profit, a firm chooses a quantity of output such that marginal revenue equals marginal

cost. Because marginal revenue for a competitive firm equals the market price, the firm chooses

quantity so that price equals marginal cost. Thus, the firm’s marginal cost curve is its supply curve.

10. In the short run when a firm cannot recover its fixed costs, the firm will choose to shut down

temporarily if the price of the good is less than average variable cost. In the long run when the firm

can recover both fixed and variable costs, it will choose to exit if the price is less than average total

cost.

11. In a market with free entry and exit, profits are driven to zero in the long run. In this long-run

equilibrium, all firms produce at the efficient scale, price equals the minimum of average total cost,

and the number of firms adjusts to satisfy the quantity demanded at this price.

Chapter 6 - Background To Supply: Firms In Competitive Markets

12. Changes in demand have different effects over different time horizons. In the short run, an increase

in demand raises prices and leads to profits, and a decrease in demand lowers prices and leads to

losses. But if firms can freely enter and exit the market, then in the long run the number of firms

adjusts to drive the market back to the zero-profit equilibrium.

Chapter 7

LEARNING OBJECTIVES:

By the end of this chapter, students should understand:

 the link between buyers’ willingness to pay for a good and the demand curve.

 how to define and measure consumer surplus.

 the link between sellers’ costs of producing a good and the supply curve.

 how to define and measure producer surplus.

 that the equilibrium of supply and demand maximizes total surplus in a market.

KEY POINTS:

1. Consumer surplus equals buyers’ willingness to pay for a good minus the amount they actually pay

for it, and it measures the benefit buyers get from participating in a market. Consumer surplus can

be computed by finding the area below the demand curve and above the price.

2. Producer surplus equals the amount sellers receive for their goods minus their costs of production,

and it measures the benefit sellers get from participating in a market. Producer surplus can be

computed by finding the area below the price and above the supply curve.

3. An allocation of resources that maximizes the sum of consumer and producer surplus is said to be

efficient. Policy makers are often concerned with the efficiency, as well as the equity, of economic

outcomes.

4. The equilibrium of supply and demand maximizes the sum of consumer and producer surplus. That

is, the invisible hand of the marketplace leads buyers and sellers to allocate resources efficiently.

Chapter 8
LEARNING OBJECTIVES:

By the end of this chapter, students should understand:

 the effects of government policies that place a ceiling on prices.

 the effects of government policies that put a floor under prices.

 how a tax on a good affects the price of the good and the quantity sold.

 that taxes levied on buyers and taxes levied on sellers are equivalent.

 how the burden of a tax is split between buyers and sellers.

 how a subsidy on a good affects the price of the good and the quantity sold.

 how the benefit of a subsidy is split between buyers and sellers.

KEY POINTS:

1. A price ceiling is a legal maximum on the price of a good or service. An example is rent control. If

the price ceiling is below the equilibrium price, the quantity demanded exceeds the quantity supplied.

Because of the resulting shortage, sellers must in some way ration the good or service among

buyers.

2. A price floor is a legal minimum on the price of a good or service. An example is the minimum wage.

If the price floor is above the equilibrium price, the quantity supplied exceeds the quantity

demanded. Because of the resulting surplus, buyers’ demands for the good or service must in some

way be rationed among sellers.

3. When the government levies a tax on a good, the equilibrium quantity of the good falls. That is, a

tax on a market shrinks the size of the market.

4. A tax on a good places a wedge between the price paid by buyers and the price received by sellers.

When the market moves to the new equilibrium, buyers pay more for the good and sellers receive

less for it. In this sense, buyers and sellers share the tax burden. The incidence of a tax (that is, the

division of the tax burden) does not depend on whether the tax is levied on buyers or sellers.

5. The incidence of a tax depends on the price elasticities of supply and demand. The burden tends to

fall on the side of the market that is less price elastic because that side of the market can respond

less easily to the tax by changing the quantity bought or sold.

6. A subsidy given to sellers lowers the cost of production and encourages firms to expand output.

Buyers benefit from lower prices.

7. The incidence of a tax or subsidy depends on the price elasticities of supply and demand. The burden

tends to fall on the side of the market that is less elastic because that side of the market can respond

less/more easily to the tax/ subsidy by changing the quantity bought or sold.
Chapter 9

LEARNING OBJECTIVES:

By the end of this chapter, students should understand:

 how taxes reduce consumer and producer surplus.

 the meaning and causes of the deadweight loss from a tax.

 why some taxes have larger deadweight losses than others.

 how tax revenue and deadweight loss vary with the size of a tax.

 the efficiency costs of taxes.

 alternative ways to judge the equity of a tax system.

 why studying tax incidence is crucial for evaluating tax equity.

 the trade-off between efficiency and equity in the design of a tax system.

KEY POINTS:

1. The efficiency of a tax system refers to the costs that it imposes on taxpayers. There are two costs of taxes beyond the transfer of resources from the taxpayer to the government. The first is the

distortion in the allocation of resources that arises as taxes alter incentives and behaviour. The

second is the administrative burden of complying with the tax laws.

2. A tax on a good reduces the welfare of buyers and sellers of the good, and the reduction in

consumer and producer surplus usually exceeds the revenue raised by the government. The fall in

total surplus – the sum of consumer surplus, producer surplus and tax revenue – is called the

deadweight loss of the tax.

3. Taxes have deadweight losses because they cause buyers to consume less and sellers to produce

less, and this change in behaviour shrinks the size of the market below the level that maximizes total

surplus. Because the elasticities of supply and demand measure how much market participants

respond to market conditions, larger elasticities imply larger deadweight losses.

4. As a tax grows larger, it distorts incentives more, and its deadweight loss grows larger. Tax revenue first rises with the size of a tax. Eventually, however, a larger tax reduces tax revenue because itreduces the size of the market.

5. The equity of a tax system concerns whether the tax burden is distributed fairly among the

population. According to the benefits principle, it is fair for people to pay taxes based on the benefits

they receive from the government. According to the ability-to-pay principle, it is fair for people to pay

taxes based on their capability to handle the financial burden. When evaluating the equity of a tax

system, it is important to remember a lesson from the study of tax incidence: the distribution of tax

burdens is not the same as the distribution of tax bills.

6. When considering changes in the tax laws, policy makers often face a trade-off between efficiency

and equity. Much of the debate over tax policy arises because people give different weights to these

two goals.
Chapter 10

LEARNING OBJECTIVES:

By the end of this chapter, students should understand:

·  the defining characteristics of public goods and common resources.

·  why private markets fail to provide public goods.

·  some of the important public goods in our economy.

·  why the cost–benefit analysis of public goods is both necessary and difficult.

·  why people tend to use common resources too much.

·  some of the important common resources in our economy.

·  what merit goods are and why governments choose to subsidise them or provide them free.

·  what demerit goods are and how governments can limit their consumption
KEY POINTS:

1. Goods differ in whether they are excludable and whether they are rival. A good is excludable if it is

possible to prevent someone from using it. A good is rival if one person’s use of the good reduces

other people’s ability to use the same unit of the good. It can be argued that markets work best for

private goods, which are both excludable and rival. Markets do not work as well for other types of

goods.

2. Public goods are neither rival nor excludable. Examples of public goods include fireworks displays,

national defence and the creation of fundamental knowledge. Because people are not charged for

their use of the public good, they have an incentive to free ride when the good is provided privately.

Therefore, governments provide public goods, making their decision about the quantity based on

cost–benefit analysis.

3. Common resources are rival but not excludable. Examples include common grazing land, clean air

and congested roads. Because people are not charged for their use of common resources, they tend

to use them excessively. Therefore, governments try to limit the use of common resources.

4. Merit goods such as education and health might be under-consumed if left to the market and so the

state can step in to help provide services which provide social as well as private benefits.

5. De-merit goods are goods which are over-consumed and which confer both private and social costs.

Governments might intervene in the market to reduce consumption in some way wither through the

price mechanism (levying taxes on these goods, for example), or through regulation and legislation.

Chapter 11

LEARNING OBJECTIVES:

By the end of this chapter, students should understand:

 what an externality is.

 why externalities can make market outcomes inefficient.

 how people can sometimes solve the problem of externalities on their own.

 why private solutions to externalities sometimes do not work.

 the various government policies aimed at solving the problem of externalities.

 not all governemnt intervention works.
KEY POINTS:

1. When a transaction between a buyer and seller directly affects a third party, the effect is called an

externality. Negative externalities, such as pollution, cause the socially optimal quantity in a market

to be less than the equilibrium quantity. Positive externalities, such as technology spillovers, cause

the socially optimal quantity to be greater than the equilibrium quantity.

2. Those affected by externalities can sometimes solve the problem privately. For instance, when one

business confers an externality on another business, the two businesses can internalize the

externality by merging. Alternatively, the interested parties can solve the problem by negotiating a

contract. According to the Coase theorem, if people can bargain without cost, then they can always

reach an agreement in which resources are allocated efficiently. In many cases, however, reaching a

bargain among the many interested parties is difficult, so the Coase theorem does not apply.

3. When private parties cannot adequately deal with external effects, such as pollution, the government

often steps in. Sometimes the government prevents socially inefficient activity by regulating

behaviour. At other times it internalizes an externality using Pigovian taxes. Another public policy is to

issue permits. For instance, the government could protect the environment by issuing a limited

number of pollution permits. The end result of this policy is largely the same as imposing Pigovian

taxes on polluters.

4. Government intervention to correct market failure might be subject to its own failures. This is

because minority groups are able to exercise political power to influence decision making of

politicians and bureaucrats to gain benefits which might be outweighed by the costs imposed on the

majority.
